
日にち： 月 日

名まえ
６

⑥ 定着

② ９８４１３① １０５２

（ ） （ ）

④ ８１０３③ ４７２５６

（ ） （ ）

１

② ９０７４６５① ５４８７２

（ ） （ ）

④ １２５５８６③ ３４８１４

（ ） （ ）

２

四捨五入して、上から２けたのがい数で表しましょう。

四捨五入して、上から３けたのがい数で表しましょう。

１つ下の位を
四捨五入

上から
２けた

１つ下の位を
四捨五入

上から
３けた



日にち： 月 日

名まえ
６

⑥ 定着 答え

② ９８４１３① １０５２

（ ） （ ）

④ ８１０３③ ４７２５６

（ ） （ ）

１

② ９０７４６５① ５４８７２

（ ） （ ）

④ １２５５８６③ ３４８１４

（ ） （ ）

２

47000 8100

1100 98000

34800 126000

54900 908000

四捨五入して、上から２けたのがい数で表しましょう。

四捨五入して、上から３けたのがい数で表しましょう。

１つ下の位を
四捨五入

上から
２けた

１つ下の位を
四捨五入

上から
３けた
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